HOOD INFORMATION

EXHAUST PLENUM HOOD _CONF IG, PATENT NUMBERS
HOOD MAX. RISER(S) ToTAL HOOD
No. | 1RO — T NP Xt CPM[wIDTH]LENG [EtGHT] Dia | M| vEL. | sp. | Crw | CONSTRUCTION SR TE ROV AETESD (nited Statesy - US Patent 7205530 B2
4804 600 430 SS AC-PSP Island (Canaday - CA Patent 2520330 HIGH TEMP ASSEMBLY, INCLUDES CLEAR THERMAL
1 12’ 0 3000 4 | 18" |3000| 1698 | -0634"| 2400 ALONE | ALONE AND SHOCK RESISTANT GLOBE (LSS FIXTURE)
EX-2-PSP-F Deg. Where Exposed 487
EXHAUST RISER
\ § ATTACHING PLATES
SUPPLY RISER WITH
HANGING ANGLE \ VIOLUME DAMPER
HOOD INFORMATION \gQDDD TABLE :
FILTER(S) LIGHT(S) UTILITY CABINETC(S) [ 23.57 OPEN STAINLESS
HOOD FIRE SYSTEM ELECTRICAL SWITCHES FIRE | HOOD =l - [l t= [ 23/44— STEEL PERFORATED PANEL
ND, | TAB TYPE QTY|HEIGHT|LENGTH|  EFFICIENCY @ 7 ary TYPE WIRE || peaTION SIZE SYSTEMHANGING 16" SS BAFFLE WITH : ' =1
' ' MICRONS ' GUARD TYPE MODEL # QUANTITY PIPING | WGHT HANDLES AND HOOK ————_| i %J: — — 6
. , , . . Siamt v et I Light 674 B ‘T ?
1 SS Boffle with Hondles | 9 | 16 16 30% 4 LSS Series E26 NO ig 12"x48"x24" | Ansul R102 SC-111110FP L ran YES | g 3% INTERNAL STANDOFF —— | 16 |
~ 24" NOM,
18”
IT IS THE RESPONSIBILITY /
OF THE ARCHITECT/OWNER TO
.[‘.:|-DO|:C|])3.D OPT]ONS ENSURE THAT THE HOOD CLEARANCE
TAG OPTION FROM LIMITED-COMBUSTIBLE
NO. AND COMBUSTIBLE MATERIALS
1 SENSOR-CV IS IN COMPLIANCE WITH /
LOCAL CODE REQUIREMENTS.
PERFORATED SUPPLY PLENUM(S)
00D ‘ RISER(D) 48.07 MAX
GREASE DRAIN
o | TAG | POS. |LENGTH| WIDTH [HEIGHT | TYPE [ orol enc ] pia | crv | sp. WITH REMOVABLE CUP
MUA | 12 | 24” 800 | 0.278"
1 Front | 196 167 6 mz 12 gj Zgg 32;2 FCON-AIRE HOODS ARE
' BUII_IT IN COMPLIANCE WITH —I 80”
FULL LENGTH <§€Ib§> g@“@ [»]6
1/2* - 13 TPI HANGING ANGLE SUPPLY PLENUM LISTED Intertek NFPA
S$EEE 3E§MI§UI¥gM) (HARDWARE BY INSTALLER> /2" - 13 TPI HANGING ANGLE EQUIPMENT
e cRADE S - STEEL HEX NUTS (HARDWARE BY INSTALLER) NFPA #96 - 2014 EDITION EQUIPMENT
MINIMUM> STEEL or GRADE S - ETL LISTED TO UL-/710 REQUIREMENTS
FLAT WASHER ET_IIE'TIMQ}Q)S,_?EREEL ] C 2 0 7 8
IG{?EA'DE_ SIS(JIT\IIIMUM)
STEEL ALL-THREAD égihé.éS(J;ﬁMUM)
STEEL ALL-THREAD
(13{?8A'DE_ 513(b:1rIFI>\IIIMUM) % -
STEEL HEX NUT FULL LENGTH 1G1?§A’DE_ 513(JITQIIMUM)
1/2" GRADE S CWETGHT BEARTNG STEEL HEXTOT HANGING ANGLE.
(MINIMUM> STEEL Y,
FLAT WASHER = FOR ooy E@Tlﬁ@’:i%g:g& (WEIGHT BEARING
— PLENOM SECTION VIEW — MODEL 4824EX—2—PSP—F
—-—
= o e s HOOD — #1
HENTMONS STREL FLAT WASHER
FLAT WASHER
172" - 13 TPI 172" - 13 TPI
GRADE S (MINIMUM> GRADE S (MINIMUM)
STEEL HEX NUT STEEL HEX NUT
ASSEMEBLY INSTRUCTIONS
ASSEMBLY INSTRUCTIONS
HANGING ANGLE MUST BE SUPPORTED WITH 1/2” — 13 TPI
GRADE S (MINIMUMY> ALL-THREAD. SANDWICH HANGING HANGING ANGLE MUST BE SUPPORTED WITH 1/2“ - 13 TPI
ANGLES AND CEILING ANCHOR POINTS WITH 1/2” GRADE S GRADE 5 (MINIMUM)> ALL-THREAD., SANDWICH HANGING
(MINIMUMY> STEEL FLAT WASHERS AND 1/2” - 13 TPI ANGLES AND CEILING ANCHOR POINTS WITH 1/2” GRADE 5
GRADE S (MINIMUM> HEX NUTS AS SHOWN. MUST USE (MINIMUM)> STEEL FLAT WASHERS AND 1/2” - 13 TPI
DOUBLED HEX NUT CONFIGURATION ABOVE CEILING GRADE 5 (MINIMUM> HEX NUTS AS SHOWN. MUST USE
ANCHORS. SINGLE HEX NUT BENEATH HANGING ANGLE IS DOUBLED HEX NUT CONFIGURATION ABOVE CEILING
ACCEPTABLE FOR FULL LENGTH HANGING ANGLES. ANCHORS. SINGLE HEX NUT BENEATH HANGING ANGLE IS
MAINTAIN 1/4” OF EXPOSED THREADS BENEATH BOTTOM ACCEPTABLE FOR PSP HANGING ANGLES. MAINTAIN 1/4” OF
HEX NUT. TORQUE ALL HEX NUTS TO 57 FT-LBS. EXPOSED THREADS BENEATH BOTTOM HEX NUT. TORQUE
ALL HEX NUTS TO 57 FT-LBS.
3//
7 =] | = N
|
?18”
HOOD CORNER 48" UL. Listed LS55 Series E26 Canopy j
1/2% - 13 TPI HANGING ANGLE Light Fixture - High Temp Assembly
GRADE S (MINIMUM) (HARDWARE BY INSTALLERD J m m O
STEEL HEX NUTS _J
1/2” GRADE S =
(MINIMUM> STEEL
FLAT WASHER
utilit
o = o o Cabie
STEEL ALL-THREAD W@ |_CD _ [ g A_
GRADE 5 CHINIMUM) W T W W
STEEL HEX NUT L L L
12 GReDE S IANGING ANGLE o7 e T tef = S = ]
FLAT WASHER (WEIGHT BEARING . g 8 g” _
ANCHOR POINT = i = T 7=
} } f
1/2” GRADE S
(MINIMUM> STEEL
FLAT WASHER
72" 72"
172" - 13 TPI !
GRADE S (MINIMUM>
STEEL HEX NUTS |
26" | se’ | se” |
ASSEMBLY INSTRUCTIONS 15" 0"Nom /12" 0.00°0D .~ 1 o
HANGING ANGLE MUST BE SUPPORTED WITH 1/2” - 13 TPI o
GRADE 5 (MINIMUM) ALL-THREAD. SANDWICH HANGING 13'-0.00" Dverall Length
ANGLES AND CEILING ANCHOR POINTS WITH 1/2” GRADE 5
(MINIMUMY> STEEL FLAT WASHERS AND 1/2” - 13 TPI
GRADE S (MINIMUMY HEX NUTS AS SHOWN. MUST USE
DOUBLED HEX NUT CONFIGURATION BENEATH HOOD HANGING . PLAN VIEW — Hood #1
ANGLES AND ABOVE CEILING ANCHORS. MAINTAIN 1/4” OF 12 0.00 LONG 4824EX—-2—-PSP—F
NOTE: Additional hanging angles provided for hoods 12’ and longer.

EXPOSED THREADS BENEATH BOTTOM HEX NUT. TORQUE
ALL HEX NUTS TO 57 FT-LBS,

REVISIONS

\

DESCRIPTION

DATE:

> [>[>D>] |

>« ECON-A!

-
'ACCORDANCE
WITH
NFPA
No 96

Sl
<l

\(m

S
Q
Q
©
c
Q
o
Q
3
S
=

A

12" KVS Package (2019

DATE: 3/21/2019

DWG.#:

DRAWN

BY:

SCALE:

3/4” — ,]’_O”

MASTER DRAWING

SHEET NO.

1




EXHAUST FAN INFORMATION
FAN
DISCHARGE WEIGHT
UI\ITIDIT TAG FAN UNIT MODEL # CFM ESP, RPM | HP. |BHP.| @ |VOLT| FLA VELOCITY (LBSS SONES
1 | KEF-1 EABDULSHP 3000 1.150 1358 | 1.500 |11820| 1 | 115 | 122 693 FPM 162 14.4 FAN #1 EABDULBHP — EXHAUST FAN (KEF-D>
FEATURES:
39 3/8 '
MUA FAN INFORMATION _ ROOF MOUNTED FANS
FAN - RESTAURANT MODEL
UNIT | TAG FAN UNIT MODEL # BLOWER| HOUSING | i [ PESON | Esp | mem | e | BHP | @ | voLT |FLa| WO |soNeS ] - UL705 AND UL762 AND ULC-S645
NO. ' — AMCA SOUND AND AIR CERTIFIED
- WIRING FROM MOTOR TO DISCONNECT SWITCH
[: - HIGH HEAT OPERATION 300°F <149°C>
— GREASE CLASSIFICATION TESTING
o o
ol | | B
33 3/4 I r— NORMAL TEMPERATURE TEST
FAN OPTIONS | | 05 5,8 EXHAUST FAN MUST OPERATE CONTINUOUSLY
FAN " WHILE EXHAUSTING AIR AT 300°F (149°C>
_ UNTIL ALL FAN PARTS HAVE REACHED
U'L\IDIT TAG OPTION (Qty' Descr. THERMAL EQUILIBRIUM, AND WITHOUT ANY
: I DETERIORATING EFFECTS TO THE FAN WHICH
1 KEF-1 |1 - Grease Box GREASE DRAIN WOULD CAUSE UNSAFE OPERATION.
‘ ABNORMAL FLARE-UP TEST
| ’ \ | EXHAUST FAN MUST OPERATE CONTINUOUSLY
WHILE EXHAUSTING BURNING GREASE VAPORS
2 —f / \ AT 600°F (316°C> FOR A PERIOD OF
15 MINUTES WITHOUT THE FAN BECOMING
CURB ASSEMBLIES ~— 16 1/2 — DAMAGED TO ANY EXTENT THAT COULD CAUSE
NO. I__l:lAN,\l TAG WEIGHT ITEM SIZE AN UNSAFE CONDITION.
1| #1 KEF-1 41 LBS Curb 26.500°W x 26.500"L x 20.000"H Vented Hinged 26 OPTIONS
2| # 2 MUA-1 29 LBS Curb 21.000"W x 21.000°L x 20.000"H 28 GREASE BOX.
L 2 Ve N
DUCTWORK BETWEEN
EXHAUST RISER ON HOOD
AND FAN (BY OTHERS)
FAN #2 EA-A1-G10 - SUPPLY FAN (MUA-D1)
HINGEKIT-GREASE BOX INSTRUCTION 18 LIJII:IJEEEEEESDSS/?$EYE3N£—EL¥EIEQ 10" BLOWER IN SIZE #1 HOUSING
CLOSED POSITION REVH#L 11729711 3. DOWN DISCHARGE - AIR FLOW RIGHT -> LEFT
EXHAUST / \ FIELD ASSEMBLY OF THE HINGES
FAN NG \
) £ 1 SUGGESTED STRAIGHT DUCT SIZE IS 14” x 14" x 48" LONG.
STEP 1)
ASSEMBLY (LEFT AND RIGHT> FAN PLATE WITH CURB PLATE
AS SHOWN ON PIC. 1 AND PIC. 2 <IF PARTS NOT ASSEMBLED).
LINE UP FAN BASE EDGE TO INSIDE EDGE OF FAN PLATE
A / AS SHOWN ON PIC. 3.
PLATE , ; PIC. 3
(LEFT GREASE :
/ﬂ FAN BASE ]
] LOUVERS FAN BASE EDGE T
E/ (OPTIONALD
®
CURB .
PLATE Lo
(LEFT) ot . LISTED
STEP 2) INSIDE EDGE OF FAN PLATE
SCREW THE FAN PLATE TO THE FAN BASE USING
(12> # 14 X 3/4” LG, SHEET METAL SCREWS, (LEFT & RIGHT).
CURB NOTE: IF THE SCREWS HIT THE CURB, THEN RUN THE SCREWS
FROM INSIDE THE FAN BASE, BE ALWAYS SURE THAT SCREWS
NOT INTERFERING WITH CURB WHEN FAN SWINGS SEE PIC. 4.
RUN
PIC. 1 RUN PIC. 4 SCREW
3/8-16 SCREW FROM
WHIZ NUT FROM FAN BASE DUTSIDE
HARDWARE INCLUDED INSIDE
FOR HINGES ASSEMBLY CURB
o
3/8-16X1 1/2 ~G
/ WHIZ BOLT /816 2 - FAN PLATES (LEFT & RIGHT)
WHIZ NUT 2 - CURB PLATES (LEFT & RIGHT>
) g 2 - 3/8-16X1 1/2 WHIZ BOLTS STEP 3
& - 3/8-16 WHIZ NUTS SCREW THE CURB PLATE TO THE CURB USING 27 3/8"
SHEET METAL SCREWS (12> # 14 X 3/4" LG. SHEET METAL SCREWS, (LEFT & RIGHT.
24 - # 14 X 3/4" SCREWS
STEP 4)
TIGHTEN NUT AND BOLT ASSEMBLY, CHECK HOW FAN SWINGS. LIFTING LUG EE E]
FIELD ASSEMBLY OF THE GREASE BOX
HARDWARE INCLUDED F
FOR GREASE BOX ASSEMBLY STEP 1)
ATTACH VINYL DOWN SPOUT TO THE FAN.
SHEET METAL SCREWS PLACE GREASE BOX ON THE CURB, VINYL DOWN SPOUT
3 - # 14 X 374" LG SHOULD BE INSERTED IN HOLE OF COVER, LINE UP CURB PLATE ! -
AND BOTTOM OF THE GREASE BOX AS SHOWN ON THE SIDE VIEW. 33w ] :
LOUVERS MARK ON THE CURB POSITION OF THE GREASE BOX COVER. i :
E/ (OPTIONALD
/ STEP 2 e

ATTENTION!

THE FAN

REMOVE VINYL
DOWN SPOUT
BEFORE SWING

\\\\\ LINE UP CURB

PLATE AND BOTTOM
OF GREASE BOX

DISSASSEMBLY GREASE BOX

SCREW GREASE BOX COVER TO THE CURB USING THE (3>
# 14 X 374" LG, SCREWS,

ASSEMBLY GREASE BOX

BEFORE SWING THE FAN REMOVE VINYL DOWN SPOUT

c6 /2

c6 1727

VENTED
CURB

20 GAUGE
STEEL
CONSTRUCTION

3" FLANGE

/ T
/ 7\ ROOF OPENING
—

56 DIMENSIONS

NOTE: SUPPLY DUCT MUST BE INSTALLED TO MEET SMACNA STANDARDS. A MINIMUM STRAIGHT DUCT LENGTH MUST BE MAINTAINED
DOWNSTREAM OF UNIT DISCHARGE UNLESS OTHERWISE SPECIFIED. DO NOT RELY ON UNIT TO SUPPORT DUCT IN ANY WAY,
FAILURE TO PROPERLY SIZE DUCTWORK MAY CAUSE SYSTEM EFFECTS AND REDUCE PERFORMANCE OF THE EQUIPMENT,

20” EQUIPMENT CURB /
21"

ROOF OPENING 2” SMALLER THAN CURB DIMENSION.

BLOWER DISCHARGE
CURB

1 3/4" —=

i L\l— -
|

REVISIONS

\

DESCRIPTION

DATE:

> [>[>D>] |

>« ECON-A!

y
||

WWW.econair.com

A

-
'ACCORDANCE
WITH
NFPA
No 96

) @
¢ S ntertek

12" KVS Package (2019

DATE: 3/21/2019

DWG.#:

13 1/4" ‘ i
| |
3 7/8" L 73
T
— 11 1/2" =
FLEX CONDUIT
FOR FIELD
WIRING
76 1/2"
32 1/8”
AIRFLOW
SERVICE AIRFLOW
DISCONNECT G
29 3/4* == SWITCH
BLOWER/MOTOR
ACCESS DOOR
24" SERVICE
['CLEARANCE REQ.
48"
MINIMUM
STRAIGHT
DUCT - <
>
I~ N~
21

— MIN. 14"

DRAWN
BY:

SCALE:
3/4)) — ,])_O”

MASTER DRAWING

SHEET NO.
2




